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Sme : 23 Hours] [Total Marks : 70

pstraction © Indicate your options clearly.

| Answer the following questions in brief : 18
(Any Six)

(1) Why did Gerald Durrell move around the z00
at midnight?
' 2) Why did the horse give his harness bell
‘ shake?
(3) Enumerate the qualities the poet wishes his
country to have.
(4) When did the astrologer usually start his
day's pusiness’
(5) Why does the poet refer to neaven as 'deaf’
(6) What is the emotional state of the poet when
the Sonnet 29 begins’
(7y Why can't the poet stop at the woods for long
time?
(8) Why are Pere David deer 80 named?
| (9) How does the Indian education system differ
from American Education system?
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5 "An Astrologer's Day is a humorous story '
Upon

the life of India."- Discuss.

Discuss the difference between the education g
yStem

OR

of India and America.

3 (A) Turn the following sentences into indi
narration : (Any Six) e

(1)
@)
3)

4)
(®)

(6)

(7)

(B)
(1)
()

3)

Karan said to Minal, "Wh
e 5 y are you late

"Shut the door", the princi
y Pprimci al 1
| P said to the

The teacher 1
said, "The E

round the sun." e
The ol
78 ;ru iald,‘ What a beautiful scene it is!"

said to me, "Did you meet th
man outside" }
The t i
- ea;her said to the students, "I will

you some pictures tomorrow"

id to " '
problem " me, "Let's settle the

Fill in th
€ blanks Wi
of Conjunctionsg ith appropriare forms

Sit quietly g
orandy TN leave the class.

e 0ur h .
a Oard |
e great, (Though /lSBl;ttt)le' our hearts

\

we pl
help 9m enviTOIrJl::ltI:ore trees, it will
0 survive, (If / As)

does
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(5) Tellme _——
(how / otherwis
(6) Minal was abs
she was ill. (b
(T) The farmer WO
dark. @il / W

(C) Use the following
verbs in your OWr
(1) According t0
(2) Owing to
(3) Abide by
(4) Wind up
56) On account
(6) break into
@) hand over

(A) Translate the fo
English into Gu
Man is the arch
‘makes a proper
his duties accor
and prosper in
he is sure to It
kill time 1S as ¢
for our life 1s
hours, days an
of life. In yout
and can be mC
we lose the I
have to repen



S Story Wpon

to indirec t
Are you late
| said to the
rth moveg

scene it is!"
| meet the

nts, "I will
orrow"
settle the
re forms
he class.
ur hearts
38, lt Wlll

e. (If / As)
____does

(5) Tell me you solved this puzzle.
(how / otherwise)

(6) Minal was absent yesterday
she was ill. (because / s0)

(7) The farmer worked hard it got
dark. (till / when)

B

B (C) Use the following phrasal prepositions and 6
t verbs in your own sentences : (Any Six)
(1) According to
| (2) Owing to
f (3) Abide by
I (4) Wind up

(5) Omn account of
(6) break into
(7) hand over

(A) Translate the following passage from 10

English into Gujarati or Hindi.

Man is the architect of his own fate. If he
‘makes a proper division of his time and does
his duties accordingly, he is sure to improve
and prosper in life; but if he does otherwise,
he is sure to repent when it is too late. To
kill time is as culpable as to commit suicide,
for our life is nothing but the sum total of
hours, days and years. Youth is the seed-time
of life. In youth the mind is pliable and soft
and can be moulded in any form we like. If
we lose the morning hours of life we shall
have to repent afterwards.
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(B) Draft a dialogue between o

alking about. the sotg e, 08 [ 1N MBI \u\

commodities. eSSentiy

OR B. Sc. (Sen
Draft dialogues ~between a doctor and Oct
patient. ccr CH - 50

ne : 2:30 Hours]

S 3 Al Gdr Ml
1) 2 @R U
= (2) 2l AR WHA
(3) SNICB BullEl
L.

AN 4 Al wAlGL AL
(1)  stetaf@s Jula
2) OM.C. -UMHSR

(3) RbPuy x4 Al
L.

AN A G-l FAGL WL

(1) [MHARSAL usIR
AMMAl .

(2) &1L 2ed g !
(3) 25-lu @il : q

AN 4 Al G WY
‘ (1) dslel dlogn]
Cow. (2) A iy e
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C @ AL GdR AL ¢
L (D) 2 BRAR WY Geleell il Axendl.
@) 2l AR AHAMAdL qlel ANl

(8) SNICB Bullaft uxendl 2 A A6l UHldL
U]

SR 4 Al alet ML
1) stolaif@s Aol ed g ? d-l WKl qHAdl.
@) OM.CA -Msel Geleel Aldd AHondl.

3) [aRum A Al 3eals solall@s Aule-ld dransl
(L.

o3 4 G-l wdlel ML

1) [ wsiz 20, 3e0Rs A AARs [HRAusl
AHAdL .

(2) eRel 2ed ¢ ! d-rl SR Al
(3) gs-lu @vil : dldldeBil ud &Rl

O o 6+l Gz UMl

(1) dglel Aol adl wola Ul wmend).

(2)  FAAlA o418l yHnd),

(8) [l arel v [aoudlszel wsomd).
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th 1 fadntield ad d Al s LU 18
(1) GsA YRl uR Al avil.
lic @) A Brusd sl dsdr 2zl el el 24l
3) Acldd wasiy Ryl 2A3Al.
. 12 Al 2N d AL B AL 17
e , A
1) el C;-C; 3% YRaR s
©) Al FHaxdl 2wl s
in | @) o-—edl-ladag Asana sl
3 aAmiel 0B A Al At BN 18
- 1 (1) ANaSdls 3oedl y Ald @il
F @ E'ch Bulal amedl.

(3) Asblsdl 2 FrsidARidL a2 amMel $3U.

il o A AL waet UL

(1) 1-2 4u Maia Asaldsmndl Azl eRL 24 dd
@l AHANAL

2) o —edl-lala HRARL sasHel Axzdl.

A dul ‘Hlpluesd viuR.
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F- g3d AAALSL :

(1) C = 30 % 10+ emi/sec;

@ h = 6.626 X 1027 erg.sec.

@) k = 1:385N10=0 erg.deg! mol-!.
4) R = 1.987 dadlla.3.

L o 20 (&) 18
(1) HCOOK [elor ARl [t BRGNS Aol
emf <l GUARLAL Al

(2) weugld &R USIR-L wiadl gasll Rsdeal ot
Byl digdl Sl emf o AHLsR8L dlrdl.

(3) ol Ad-AL disdldl emf 4 {1581 Rl

§ ooz : (&) 17
(1) MB weR2su uslsiel alrdl.
'} (@) svun w1 dau-l [EEY UsR Aunel.

@) wida-ly [drel s alsel ardl.
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3 ogqer »ML ¢ (A)
Geleel ARd YEL AN :

(1)

(1) wilaiRes (2) Pisoifug
3) SRR (4)  uyl[Eo
(6) LD.P. (6) lowglle ST
(M QMIRMR 8)  An{-YisA My
9)  weiysd RMR

(2) 1 241 Yd-6.6 ] elde, AR19al 319 Gy
¥elql.

@ Bllks VR SHa MU Builfaf gy

s ) : (g)

(1)

@ 2=x10 U 4 x 105
vyl 0.6
e PDI o)

"CW-818 |

31 Dy 300 dlY¥lq emf
el pH og)

1

Thy =5.025 10744

101 =318 % 140

H

1
0.622V 8. KOH-l

001 N
KOH

2(g)

& (g
Bar

HCI

Io.on/v

AlH -3 232

ALY 2

b (CTES Huqdl

& Y2l wy
- 0.4 96

XML By g3y Aetedl vy
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Necessary Constant
c = 3.0 x 100
h = 6.626 x 10
kK = 1.38 x 107!

R = 1987 cal/r

(iive the answers : (

(1) Explain the use

dissociation cons

(2) Derive the e
transference of ¢
sparingly solu
electrode.

(3) Derive the e

concentration ce

Give the answer - (1

(1) Derive the M.B

Explain the vari
combination.

Derive the vib
equation.
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nd C 2] A QA AL sl BN 18
(1) WMd s -

e (a) BEML C;=C,' qu Cl=F.

(b) 624 (Ssell) W2 Si=0, dul SP=F.
17

oG () C,, Diguye =2 deusiR Svesl -l 3.
= (3) (a) A xR Rig qHe s181 uRA A8l 53
CH,C/, H,BO,
(b) AL (Big AHe HUAAAL Y-l Gelelel
Yl A dredl ealdl
n of D HE
A4 o Q el apater ) 17
(1) A1An1 yel uxodl
(a) A1 2Uls 27 320U s Wl
(b)  Ustd A (B WAL,

(2) PMR aglueui TMS-L Gulol el ddld ¥ sl
A B 7 TMSHL Reoreell £165 Aol Riorte 2t
rdldal Qualdl 5 HMsH B0l wlsrel el
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3

(@)

4

PRI TR Reonter (e oy q)

CH,CH,COOCH,CH, ,  CH,CF CH gy
(o) AL PMR 32l 2U41R 61418l )
MF : CH

9 710
(@) (2H) (Ba~ee 7 7.96
(b) (4H) Qe r 7.09
(c) (4H) Raz r 2.83

QA AN A G-l A ML

(1) SER-GSH deu-l At »u@u yyondl. dl
5148l %RUd).

(2) uEl AHANA :

SR AR, &R 86, MR EMdl, 61’ 4ldel.
(3) ctegplles s wuq oy Gelezel ad Al

ARl 2R § Qe ooy W)

(1) Ry wyiqz @29 47 AN srsdl wRel
%R,

(2 ~ -- Y .
) f{\fz{lqa »ed g 7 Yoy Gelsell girL (alay usir-l
ARlldd yuonq)
(3) (m
) BB 05 M DO i0/s 1y NeoRIEE
M@@{v}' ‘Mctl][&c{l‘{ g Pig uegl i gl
wd o 88 Cacy  oel S8l GRRAML
S, oy g 2 l
(%) S0 My 0.1

01 McHy cooﬁ;‘;ff;&‘ja ¥ 50 (. (.
AR pH 2aq) gy 4 i ?di RURTREE
\ = .71
COW-s21) Y 0=4.74)
g

TSy

e

=

ENG
(

Answer @ i

()

(a) For BF
(2) Prepare mul
3) (@ Determ
molecu

(b) Give e
point ¢

Answer any two
(1) Explain the

(2)

3)

(a)
(b)

Enanti
Shilde

Why TMS
equation of
of proton fi

(a)

(b)

[Contd” CW.go -

Give f{
compao
CH3CI
Detern
using |
MF - |
(@) (2
(®) (4
(c) (4
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me © 2 Hours]
(IR waldl elel dmdl $3Ud 8.

l,t LAl SSusl AR UL Gdr dvl 20
L () DR uEl wendl
: @) $HSR
b) AL
(©) sHBA
@) Qlals qul RSB wA-3 Gelslel AlBd
y4Andl.
(3) seadl LS @A AARNA L8l QA dsldd ¥R
53
(4) simiRed waR P aelse wendl.
(5) i W : “dsa e Rl

-] SiSugl AR Uil %l 2l
(1) ws@wel w1 Gudel ealdl ¢ S0 A SENEIEE
(@) -850 213 Al dsduel dal GulllLdt og|lall.
@) EBT w13 Pl sepl dsdngl 2l A Gl
: 24 gy B d oeudl.

@) 2ol avll : “Bred adlde”.

6) wdaq 2wl : “Agurs W8
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DAL WAL 5l gl 2l : (313 A wia)
(1) Pl A g ? Al usiR woudl.

@) gedl 8 Red g ? Al & Gelerel il

3) W sl Yyl oold).

@) AN oimize eald).
®)  Anlellne sinize 93]

; . : , olldl.
©) A eprinm quarar 3018l A% ¥

(D AsAMA 39184 25 Gelerwl owlldl.
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& hruxnugunus

Ans
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